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N=50;

n=(1:N)';

fs=10;                   %fnyquist=5

t=[0:1/fs:(N-1)/fs]';   　   % t=0 :0.1: 4.9

f=[0:fs/N:(N-1)*fs/N]';     % f=0 :0.2 :9.8

x=zeros(N,1);

x(11:21)=1;                %t=0(n=1),t=1.0(n=11),t=2.0(n=21),t=4.9(n=50)

y=sin(2*pi*4*t);       　  %f0=4

z=x.*y;

Z=fft(z)/N;

subplot(3,2,1);           %title('時系列データ')
  plot(t,x)            
  xlabel('t')

  legend('x')

subplot(3,2,3);           %title('時系列データ')
  plot(t,y)

  xlabel('t')

  legend('y')

subplot(3,2,5);           %title('時系列データ')
  plot(t,z)

  xlabel('t')

  legend('z')

subplot(3,2,2);           %title('スペクトル')

  plot(f,real(Z),'-',f,imag(Z),':')

  xlabel('f')

  legend('Re Z','Im Z')

subplot(3,2,4);           %title('振幅スペクトル')
  plot(f,abs(Z),'-.')

  xlabel('f')

  legend('|Z|')

subplot(3,2,6);           %title('位相スペクトル')

  plot(f,angle(Z),'-.')

  xlabel('f')

  legend('Arg Z')

